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Lecture 15

y=ax’+bx+c

Qass @z 10
Solve \:3 Cramer's Yk

> 3
g 51 - 2(3) -1
Y?& «3\6,—1 D= \2 -1\ ) ) D
X ——\A:j o \1 \
X A

_22, /1

\:1("1)—7(3) =\-22
e Ox 2 -2

> -\ s oa |
Y. 33y 03'\2 1\;50)—2(1),@
’ \Rm‘ Mo (2 -5)\

Y




.__'-\’x

3
2
Y -b

("Z)R?. +%% »R3

Solwe 3X 4‘13 -152=-12 bn Madrix Method.
X A2y -Y%- -3

-\5 + -\
R ,3) 12 4.3
5 b \3 o _\g‘\,\?)
4 b \5"_ \6
(2RL xR R

(4)R1L +R3 -» R3

- (,5 x\5¢:- 16
R1, °R®

A 2 N \‘-3
O \ —5%—3
o o SR Y W

T2 M3 " %1(5) gRS—L\ V3
Q 03 ‘\ -3 o 1 3 :\-;X
6 o 5.1 o o 1:2
2 4 ‘\l -3 CLQ 5STAW E\tmmo\\‘\av‘
\‘— 'x&?}s -\E=-3
T \6 3%_ -3
4-3(2):= -
M\ %exob i 15 £ 4-6--3

:tm\ Ane

(ﬁL)312;>

3=2
x5 2(3)4()= -3
X b -=-5

March 4, 2021




March 4, 2021

Save by Matrix Method: Ri, R2
2 A1y v Zz= 1 2 7 AN
xoox3y -Z2 13 e
X ATy qlZH5 U W VAR

o (2)R1 4R R2
o > 1'. = (- R1 «R> >R

2 N Ly o
L 1 > \!‘*5 1 k) 1 : 2
0 3010
("‘\)R?. ARy B R2 o) Y \3 ‘,‘L\g

e T fiminch
on Eliminatyon

1 2 | G—Q\’SS\QV\ \ \
° 9 XAM-2=2  Xx=2

°© © 113 I3E=0 Y=1
(2,1,3) &

@'. 2 G,o\uss—éoréow\ E (iwanation
VO] (HR3 AR >R
» 9 R3 4 R1 —»RL
s| (3)ke «R1L —»RL
1 \ ®) O ‘| 2 X:Z
3 O 1 0 \'L 8:1
Q o) 1 \. 3 2=
Fonal Aws
(2,4,




SO\VL ‘oa MK \V\Q“\ocx'. Q\KJ'M“*" A Marix

R 2k
2 vy vz R

roa2y aeE=M L 2 %‘\‘\L\
x A3Y x62:=9 v 3 6%+ °®

5 1 \y| (DRLxR2 R
5 1 A1 1% (- )RL AR> 2R3
L 3 6 Lo e
— O 2 -5 \ -\1
R, k3 S 1 @ \
o) -'?_\ -6 1 o % \ 4
-5\ Y \

March 4, 2021

2N (R2 AR PR
o, 1 CD-6| (DR ARL »RE

oo 11} 1 @ o0 i6
o 1 o
(eR2 4 RL>Rd 1© O 1

O 1 O 1-4{YyM =

o O 1"1 z1 Q*’-L"i)




Coagh oS the  equotion é:QXZJv\ox&C
Contatns  (1,4), (-1,10), ond (2,7,
vse wakeix method B Sid the e
Pornt (14)

31“ Ly H=a(EY b AL = vbaey

Po('\'\' L;'\/ \0)

gt b 0-ae e Ao -bie o
=1\

Potak (211

f;g,z pis a(2Y tb(2)AC 44 +2b+(-1]
=1

o v b A (TR Ly
Xog -5 410 % A “‘l%
no A2b (=" 2 430
(RL s 2 »R2 O
K :
3

(—%)Ri A B R

March 4, 2021

14 vy R2:(D)—>R2
\ \
O N 06 é t L ‘.2
O 2 —3‘\,3 © ‘\_
o € 2
(QR2ARHPRE 14 4 1y
\ P
\ HE LY
o 1 93
242 —» > o 0 H

LW W S | &+ baC=y  O-da5=t
O A O\3 \b--2) ox2 =4

(&zxz-sms




March 4, 2021

c O+
o +~ G
- O
O
(VS
o
((

W

Y= 0”4 bx4C

Ju-202-2x 5

Liso. has Q0 Coins,
Dimes, Nitkels  and Pennies only.

She hos (§\.32)> 1324

% o Nickels is the Same 05 the
ol # 05 Dimes and Pennies.
How oy o5 each does she have?

D -4 Dimes D « Ny P=20
N o> w Nickels  10p 5N x1F =152
P -8 o Penuies N D+ P

D AN A P=20 1 1 4120
1D 45N + P =132 o 5 1 2\32




11, 20| (-00RL AR bR
@ 5 1w R1AR> SR>
i 410 A1 120
0 -5 9.
R3:(2) —» R> 6 2 020
101 120 2R3
' \- i 1 v2
O =[5 ‘ﬁ |—6% l‘ ©
\ o O \ lO
o 1 010 o P e
(5)R2+R>—>R3 >R
102 1200 §4 14 1120
o 1+ 0100 o 1 O 10[N=10

o o A% o a ila]e

D aN yP=20
D 10 v2=290

o5l

R Dimes
10 Nickels, ond

2 Pewnies

Andve  tnvested $20,000 in 3 accoonts  Sov
B - Bank

S Shds
We W\G.AQ $620 in Ti\JRVfQS". D —» Bonds

Rank. occoont @ 27, Stocks@ /., Bonds @ 5/

We iawested S kimes in the Bank ancountas

One Neav W S?w\?\e tatevest.

Stocks. B A S D = 20000
100 D'/b w47 S a57)= 620
=55
B 4+ S A D=20000 ‘
\25 A4S 45D = 62000 L1 1.%0m0
B -55 = QO 4 5 162000
(2R1 1R »R2  (DRLR R - -5 04 O

: 1 1 120
o 2 3 ‘nw KO 2 3;22;‘%

(® @‘1 20060 o O I i4600

March 4, 2021



March 4, 2021

@) 2 3 ;Zzooc)
@, o AV 5150 Bonds

120 3¢ —> R3

5 12200 A 1 1 1 20000
2 146000 X

B +Sy D=20000 5S x 3D =22000
BA 2375 4 5190220000 \2 S x3(5150) —22000

BAQs=20000 )25 4150 (D231

B\ ~
Bonk —» W67

wble Chelt Sacks P $23715
colcu lastions

Ronds —» $919V

QG 2 P-» Pizza
*» \0 C —p Yce Greamn
S Sodn

Lisa 1p + AC +1S= 1030

Mark op +1C £+ 5 S =\810
bad 2P A0C A 257 2420

«
Your job fo To SoWe o P CandS




March 4, 2021

& 9
4 4 v 6Bl =303 Profen
64 ¢ 1B «1C :l(,a Yot
3 41 B 420 =4y Corb
Yow job is T Sowe Sor
A, B andC.
Sowe \)\6 c\Nimination %2 A\ \32: 34

"% *X:BL\ o5 A e o
v /%f:‘e g=M-2
. o

2x°= 50
Divide \OV) > =» XZ:ZS X-=15

Final  Ans |
\‘LBI %) / (57> )/ (—C)/ %3/ ("5/"))‘!




March 4, 2021

= X \62325
%‘a_ 7(.*(—&_

Solve by Subs.
wmethod
é: x L
=3+\=H
(3M)

A= > P=-Aed=-3

=23 > Y

Sl(’m) , L~=|,-3)§

2
X (’k *l) =25

(,-3)

224 (x A1) 250
2Ly KAkl 25=0
o2 g 2% —2M=0

Divide by <
2t xx 2 =0

(x W) (x-3)=0
) R

x4M=0 x-3:=0

x=4 = X33

Class Qz 11

Selve ‘oa ek Method:

Y&ZB:S’
2')(,——6 =0




